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SN SHE
B =0 ME HO TR(SHS)
el e840 JdHA™ 2 (el &)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
SNS 333,930 322,126 11,804
F0l M HO CR(SHS) 172,582 163,079 9,503
SEHe YddE 2 172,582 163,079 9,503
HAH2SH 172,582 163,079 9,503
101 el 3,322 3,979 AB57
10 JIZtNZ22NSEs 3,322 3,979 AB57
OkE=2H SZFH| 3,322
colf 32,0003 x4 H 25 3,200
oMATHNEE = 3,200,000 *3.8% 122
201 ZEH2IH] 35,560 32,400 3,160
01 Atf2teld 16,400 15,140 1,260
oget=EHl 12,800,000& 12,800
o=2&=¢ 600,000 600
O= gl 3,000,000& 3,000
02 522944 17,660 15,760 1,900
O332R=ZL A 11,000,000& 11,000
O =l 1,960,000& 1,960
(OFNF=R=4=|E=PN}] 2,200,000& 2,200
OXted gt| 2,500, 000& 2,500
03 HAI2EHI 1,500 1,500 0
OHA2Y Let+==H 1,500, 000& 1,500
301 LerE AR 126,700 126,700 0
05 &-cl-tEassas 122,700 122,700 0
osd=¢ 114,800
oJdlesd 200,000& 35 =12 84,000
cal= 200,000& *35H x23] 14,000
SRS 20,0002 x35H «22|x12& 16,800
oLtEELS 25,0003 =158 »23] 7,900
10 SAIAHIENS 4,000 4,000 0
OANEAM =& A2 4t 4,000,000& 4,000
405 XH&HFESH| 7,000 0 7,000
01 XA ESESH=HI 7,000 0 7,000




SN SHE
B =0l ME HO TD(SHS)
ol SEN0 UHMHN 2 (9l &2
S HE - CRI(EH) - HRAY - B 01 &t o8 e HlRE2
O=&J & Zgd 72¢ 7,000,000& 7,000
FHoXl WL (=SMS) 54,200 54,200 0
KL X 54,200 54,200 0
A2 R2FU=SAAAY 54,200 54,200 0
202 Oddl 4,200 4,200 0
01 =LAl 4,200 4,200 0
O22A=Z 0l 4,200,000& 4,200
401 Al&HIZ 20| 50,000 50,000 0
01 Al&HI 50,000 50,000 0
OA+E SIEAX™CIAMG 50,000,000& 50,000
HE2AHU(SMHS) 107,148 104,847 2,301
el | 58,348 57,747 601
el 23| 58,348 57,747 601
101 el 48,188 48,187 1
02 =% 48,188 48,187 1
OxUIZR=E 48,188
obg 9,796& *1H+40A| 2t+ 123 4,703
Sl 8,312 «2H «40A| 2t+ 12 7,980
o7s 7,457 3«4 B +40A| 2H+ 123 14,318
o8= 6,682 4B «40A| 2tx 12 12,830
Sl 5,993 2H «40A| 2tx 123 5,754
=J|ls10= 5,422 x1H x40 A 2Hx 12 2,603
203 HEF=4H 10, 160 9,560 600
01 JI22dPRF=8Y] 6,600 6,000 600
os29 6,600,000& 6,600
02 H2INHPRF=EY 560 560 0
OXAAIIEZ AH| 40,000% 14 560
04 REM2IIRFLH 3,000 3,000 0
ORN2E HRFZAH 250,000& 123 3,000
Jl=&Hl 48,800 47,100 1,700
Jl=&Hl 48,800 47,100 1,700
201 ZEH2IH] 15,200 13,500 1,700
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01 AtR2cldl 10,200 8,500
oget=EHl 5,000,000& 5,000

O=El 2,200,000 2,200

oY= 3,000,000& 3,000

02 3323l 5,000 5,000
02223 LHA 5,000,000& 5,000

202 Oddl 33,600 33,600
01 =2UWdHl 33,600 33,600
OZUEE0NHI 33,600,000 33,600




